Name: K{ V\ Date: Period:

J 5.2 Polynomial Functions DAY ONE CYU
r 84 Use when you get it right all by yourself \

8 Use when you did it all by yourself but made a s:!ly mtstake
H Use when you could do it a!ane with a little help from teacher or peer

5 Use when you completed the problem in a group
XUse when a quest:on was attempted but wrong (get help)

NUse when a question was not even attempted _’/
CONCEPTS BASIC INTERMEDIATE ADVANCED
Writing polynomials in standard form 1-7(a)
Determining the degree of expressions and terms =7 (b)
Labeling monomial, binomial, trinomial, & polynomial 1-7(c)
Real-World Application 14a-d 15 16
Synthetic Substitution 813

a) Write each expression in standard form.
b) Find the degree of each expression.
c) Label the expression as a monomial, binomial, trinomial, or polynomial.

1. x+2 25— y+4 3.9m>-5m”*+4m -8 4.a+5a° +3a —4a

a) X +2 %“b‘j tH Q\QM smxim-8  a)-4g3+3a%+5a° 14
O binomial  ©)'nowial o)pb\tjnomwﬂ J pb\kjv]omla\

5. 12x%y — xy —12x2y4 sk DTS +2rs 3rs’ 7.3=-5¢

1

a)-12x %) 1120 y=2'v a)- 35> £ TS’ +2rs 0)- ‘5)<‘2*’—3
i b) b b) §
C\ mmagmia C\ 'm f“\()m‘wd (% YD\\\DW\\W'\

If P(x) =X’ +x + 1 and Q(x) = 5X — 1, find the following. Write out the set-up and your answer two ways. Show all work

to earn full credit.
8. P(7) 9. Q(- 10) 10. P(0)
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14. The CN Tower in Toronto, Ontario, is 1821 feet tall and is the world’s tallest self-supporting structure. An object is
dropped from the Skypod of the Tower, which is at 1150 feet. Neglecting air resistance, the height of the object at

time t seconds is given by the polynomial function P(t) = - 16t* + 1150. Find the height of the object at the given
times.

a) 1 second b) 7 seconds c) 3 seconds d) 6 seconds

15. The polynomial — 7.5x* + 103x + 2000 models the yearly number of visitors (in thousands) x years after 2006 at
Acadia National Park in Maine. Use this polynomial to estimate the number of visitors to the park in 2016.
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16. The polynomial —0.13x* + x + 827 models the yearly number of visitors (in thousands) x years after 2006 at

Canyon De Chelly National Monument in Arizona. Use the polynomial to estimate the number of visitors to the
park in 2010.
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CYU Reflection: How far can you go: basic, intermediate, or advanced?
Rate your mastery level!
How confident are you with the skills this CYU covered? Circle the score you would give yours elf.
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Basic Intermediate Advanced Solved ALL!




